MAC 2313 Exam II, Part II Free Response

Name: 4{([] Discussion Period
Circle your TA’s Name
Carl Ye Kyle Adams Christian Austin ~ Michelle Baker
Aditya DeSaha Dylan Connell Abby Owens Julian Michele
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Lezhi Liu

SHOW ALL WORK TO RECEIVE FULL CREDIT

1. (12 points) Use Lagrange Multipliers to find extreme values of the function f(x,y) =
3z — 2y subject to the constraint z? + y? = 44. ﬂ(x,uj) = XL—Hj'L-,_ iy
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2. Let f(z,y) =z —y>
(a) (6 points) Find an equation of the tangent plane to the surface z = f(z,y) at (1,2).
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(b)(5 points) Find the maximum rate of increase/decrease of f at (1,2), and indicate

the direction where it occurs.
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(c) (5 points) Is there a unit vector @ so that the rate of change of f at (1,2) in the
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